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Part-I (Botany)

(@12 =1 & BiewhEe)

1. What is the palindrome of TATA ?

TATA= (ifemgy [
TATAS “fifemcgs 52

2. Name an example of a plant where both cleistogamous and

chasmogamous flowers are present. : 1
el Signre Wﬁqu@@wﬁmﬁaw CoIRI @R S Srrgae
w3 | . Ry '

aﬁ@@mma«g@wasﬁﬁmwvﬂeﬂwgmaﬁ@@m
Trzge wie | |

3. Name one microbe used in biofertilizers. 1

GRAIT 2513 a9z dfkid Sgeae i e |
(&I oA AT e SR A @Il

4. What is meant by speciation ?

geifo gl Ifere & ga?
AGife TeRe w@ice & @iEe

GeTe SR S Clend Siferiees [acd o1l
TS 912l e Gfemd Siferieed [E @Il |
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Write on adaptation of either hydrophytes or Xerophyteg, 9

How plant tissue culture has helped in improvement of crops ? 2
*PIY BT AGS Sfew TNl (@RwE TR <5 7
R CeTel A e el el ey < 2

Write briefly about application of electrophoresis.
20EE TADS AR A b B |
| IR I92EE [ TR |

Or [ 731 [ &2

Write brief account on ethical issues on biotechnology.
SRS Freams T e R b3z B
TR 81111@1 (feT TR @@ TREwee @i |
What is meant by double fertilization in angiosperms ?
sedig o™ fa-fce 3fE & @2
e Sfema B-frEe T | @R
Or [ %! | @3

Write briefly on artificial vegetative reproduction in plants.
Sfgns Flaw SRafe oW [RE0 oI &1l |
Cferms Flaw oprer aomm [Ram /et @

What is cellular totipotency ? What is the importance in plant science

9,
of it? ,
@R el s @rE? Sftr [(ee 39 vy &2
@R AReTet I e B Rew @@ 9wy Fi2
28 / BIOL 3]
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10. Explain briefly : (any two)

SIS Tl ¢ (e wor)

TRCTCH T 8 (-t 515)

() Genetic therapy
R HfFe

RIUENE S TR

(i) Bioreactor

IWRFIR
JcaAiaazs

(iti) Transgenesis
SINIEIoE G

—~

IR GG

(iv) Endonuclease

e

L‘]@ L) ’--\’7

2+2=4

181

Write the scientific name with their util

(any three)

ty of the following plants
(V2+Ys)x3=

Tﬁmwﬁ@ﬁ—mwﬁﬁw—@wmﬂ forar g

(R fofasy)

fﬁzs Wh@ﬁ—waa\ m\:ﬁaa—@w—w\wwm

AR

(1)

(iti)

(i)

(e o)

Teak

Rauwolfia
Siofael

SAofar|

Coffee
Fier
s

28 / BIOL
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2) - 15. Define biotechnology. Write the applications of biotechnology in
1+4=5

12. Write the applications of mychorrhiza.
b\ o . . agriculture. :
2T RREE I92ET [EeE F |
| TR T K@ K@l il | g §g aiked) Rems R [Ee @9
NRERETR IRAET @R | i - | | .
- ' | (EReRfEn K@l mie | FRTS texegfes el @l
13. What are the cells present in a typical matured embryo sac of | | Or'y Sy e g
angiosperms ? 3 | : ;
' : | What is plasmid ? Write briefly on the main aims of biotechnology.
SeIIG] Oferd 9Bl Sl 2Fikel TeEae & & @IT e | : o o e
e _ : AEhe 52 SR FIRGS! Reeig 167 s7aPnR oI
GG Slewrs Gl o s§efi sz & & | _
i S N | iaie e (TRegfes o aeEg ACwe @l |
Or [ 724! | wi%at | |
What is parthenocarpic fruit? How can induce the formation of
such fruits ? '
e w1 e [ e FEeE 9@ F @i 7w
- TfkEie T @S @R GRER T FETeiE e 3B e
14. Write briefly on modern synthetic theory of evolution. ‘4
RaeT Sy TR wEl 55
RAer T FCEA ©glo ACHCA (T |
X
or [ M | @I
What is Organic evolution ? Write briefly about any one evidence of
Organic evolution. 14824
o R I 7 (e G Rl 41 7y o
o e I e 09 RS (-G 5 2l (o . |
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Part—-II (Zoology)

(oSt wiew 2 elifEeT)

1. Fill in the blanks : (any fwo) , 1x2=0 "

AT 912 2[4 41 2 (Repiet 75)

“Eﬁ{ﬁf’ffms (-1 715)

(a) is the full form of PCR.
25 PCR I 57 =¥ |

25 PCR-3 5=9j¢ (19|

(b) is the name of a.bacteria which produces Bt-toxin.
AR R4 @UFRAR Bt 099 R (toxin) Sestmm |

T AFEFI WOSER Bt (6= 7 Sl 70

(c) is a contagious disease,
R AEITE (Flo A |

GFUFIE AL @I 17 |

(d) hormone induces ovulation.

—21‘-1’—('—‘:{ ]@q'q'-{ic[@' E-')[’;(\IQ{H[ G190 |

el TS Sl CElsig |

e
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25 Answer any two :

ReF1en 767 Tex 1t ¢

- 757 Ted @l ¢

(@)

(b)

(c)

(d)

28 / BIOL

What is HIV ?
HIV ©i3315 & 539
HIV Sizq &2

Which bacteria causes typhoid ?
(FITH! (CERAR TIRT2C (ol 7% <2
(I I Sz @6 G e

Write one cause of water pollution.

ﬁﬁ@Ci (R @5l FRe A |

©5] 73 2GR G el @0

What are alleles ?
e fF 219

e &2

[9]

1x2=2
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3. Answer any four : Ix4=8

Rizsizan bIf9619 ©ea &l

T BIFlod Oed (Al ¢

(@)

(b)

()

28 / BIOL

What is co-dominance ?
E-egeTel [T 5h e
FZ-2Ferel 2

What do you mean by Sexually transmitted disease ? Name

one sexually transmitted disease.

1ot GIRe el A @ @m%wmﬂ@m@f@m &
DDA LI

o AIRO @19 A @ @l 9w N & @ S . .
| ; | Q@ caisE =

CeTCAl |

What is Law of Segregation ?
P e o e

AR v 7

[10]

(d) What is Biodiversity hot spot ?
(59 (@iba Tae Sz o

GRCbtaR 515 2

(e) What are the main causes of cancer? -
TS @I (FFE 2 PRIER 2
FH0 (J5 2SR A4 IReeF F Ko

(f/ What are the effects of drugs/alcohol abuses ?
Gl /5 SPRRER SR & w6 41 4ok 2

Gl /AW SRR TR & T Al AR AT 2

4. Write the differences between : (any two)

- [z 7hE sy B e

(T FoF AL (A 3

(@) DNA and RNA
.99 =F .99

.99 @< IF.94.49

28 / BIOL el

OXD=4

Contd.



(b) Morula and Blastula Or/ 27 | q2t

S S g Draw a labelled diagram of T.S. of testis. . 2
S R S iy YEE Tl (e oo Sifs Hias =i
(c) Linkage and Recombination‘ ' ' an YEGI TN (R0 B G e e

TRAEN T AT

: 6. Write the scientific name of Muga silkworm. What are the diseases
SRS G SN
of silkworm ? 1+2=3

(d) Innate immunity and Acquired immunity

il oo (@R AN T | (@ AR @ORER & /e

TSRS 1 AR SPRESl 9 Ot 9 Sferdiite PRl ' - |
s ¢ ol G (RN (R A GO | G AR el R’ R

Tsie 1 AYIFS SISl O3 Sifse 9 Sfecaifere SHigel
| Or [ M2 | &<

di Wat and Crick model of semi- UL\ ! :
5. Draw a labelled diagram of Watson What do you mean by Transcription and Translation ? Explain.

conservative repliqation of DNA. 3 1Y+1%=3
A5 i fereeq e fG.97.9-3 sa-sikafre efegfosiq fba sl g s |
| Rl i SRl e [/ gee gaig
AT R fFs Mo f6.97.9-97 d-rcarwe diegionamg ba s hizw
: : ﬁ%%ﬁ@qmamﬁw\?%@wmﬂww:
EEGIN ,
[13] Contd.
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7. What do you mean by mutation ? Write about the different types

of mutation. 1+2=3

TeriRaeT I6TE & gEi e SeriaeT e eoie f[ae Ewi
S{Fife I5re o & @RI Affes [ien e [aw el
or | z<l [ @24l

What is gene migration ? Write about genetic drift. 1+2=3

e 2iee B2 (GEDS HEReR [{Ed B

e =ipae 2 (TAGE SPPRCR FE @Al |

8. Describe the Hardy-Weinberg law. : 5
% -Samaiel @l T 0

2 E-Saaicela F@v 0l FE |
Or [ 24 | =%

Prove that DNA is the genetic material by Harshey and Chase

experiment. S
20 T (53 SR TR 2N S (gE @ .. (DNA) ¢fs RIR
gkl . |

2 a8, (5T AT AR G S (S @ .9 5% RSy s

28 / BIOL [14]

What is Food Chain ? Write about the trophic level of food chain.

Qg *<2ET %?.W e (T B9 [a &
Wﬂ@ﬁﬁf?ﬂmﬂ@mﬁ e B Raw @t
Or [ 723 [ &t

Describe the chromosomal theory of inheritance.

gexioifeq T GHEE O] A9l T4 |

exjaifed CRITIEHIT O J90] I |
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